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‘aAll guestons are compulsory

‘he question: puper consists of 31 questions divided into {our sections A, B, C and
D, Secoon-A comprises ob 4 questions of 1 mark each; Section-8 comprises of 6

Juestions of I marks cach; Section-C comprises of 10 questions of 3 marks each and

Section-D comprises of 1! questions of 4 marks each.
There is no overall chotce in this question paper,
L'se of calculator is not permitted.
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Cuestion numbers 1 to 4 carry one mark each
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identify an irrational number among the following numbers:

- 2.5, 47, _;Tg‘ , Yooy
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Explan the meaning ot a theorem
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While

writing the coordinates of a point, which coordinate comes first

y~coordinate or x-coordinate ?
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Juestion numbers 5 to 10 carry two marks each.
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Simplify . (445 = av2 [4y5 * 2V2
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6 Verify whether x = ':'I': is the zero of the polynomial p(x} = bx +a.
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In figure, ABICD, find x.
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in the given figure, if 1= /2 and /3= £4, then prove that BC=CD.
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uF e w1 frew g iy, Ferelt & @ 60 m 3l 80 m & & ofiomg 260 m &1

Find the area of a triangle, two sides of which are 60 m and 80 m and perimeter is 260 m.
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(0, 4), (—2,0), (3, 0) #T (0, 1) ‘

On which axes do the given points lie ? .
(Ll, T), (—20),(3,0)and (0,1 M
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Question numbers 11 to 20 carry three marks each.
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Represent J1.2 on the number line.
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Express 18. 48 in the form of ;’:{ ,wherep and g areintegers, q # 0
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In the given figure, it AF=CD and ZAFE= /CDE, prove that EF=ED
= i R el e Sl
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7 fix) = 33— 52 + 7x— 11 &, 7 7@ FiAY 6 w0 f(0) + 1) =£2) R 3

if fx) = 363 ~ 5x? + 7x— 11, then find if fl0} + {1} = 2).

Ax2+ y2 + 2572 + Axy — 10yz — 20z¢ 1 OAESH Hifag 3R fir T oM 90 SN 9@ = -1, 3
)/:23a’(z= —3ﬁ|

Factorise 4x2 + 2+ 2522 + 4xy — 10yz - 20zx and hence find its value when x= —1,y=2 and z= —
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AD and BC are equal perpendiculars to a line segment AB in figure. Show that CD bisects
AB
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in AABC, the bisectors of /B and £C meet at O. Prove that ZBOC =W TS T
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_em. IEBD = 12cm, find the ares of the quadriiateral using Heron s formuia.
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15 In the hg‘ure, AB||DE, ~a8c¢ = 110" and 2CcDE = 142" Find «<BCD.
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14 The sides of a quadrilateral ABCD are AB = 13 em. BC = 16 cm, CD = 20 cm and DA = 5
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20 In the given figure, BD is diagonal of a auadn‘ateral ABCD.
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Find the area of the quadrﬂateral

Luestion numbers 21 to 31 carry four marks each
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If x is a positive real number and exponents are rational nuimbar
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find A + B’
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23 TEE ST : 27p% 45— 2n)3 +64 o> (2r—3p) + 81 (3p — 4a)’

Factorise : 27p° (4a—21)® +64 ¢ (2r—3p)+ 8r (3p - 4a)’
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Factorise @0 — _1,_,,204.3_
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25 afe SFIE ax3 + 342 — 13 AN 25 - 5x 2 B (x—2) R WM oo I, @ WoEE W 3 &) 2w AR
T wifa |
if the polynomials ax3 + 3x? — 13 and 23— 5x + a are divided by (x— 2}, the remainder is same. Find
the value of a.
|
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“ g i P+ A 3wz = — (e y+2) [fx =y +ly=2 + (z=x)? &
Prove that x> +y? 4 7% — Axyz = - (x+y+2) [(x=y)*+(y—2)" +1z~x)")
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In figure AB||CD and C is midpomt of AD. Show that O is midpoint of BC.
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%hom that in a right angled triangle the hypotenues is the longest side.
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E and F are respectively the oud-points of equal sides ﬁ;B ang AU of of AABC. Show that
BF=CE. e iR
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AB and CD are respaes'_n El‘. the smallest and longest sides of a quadrilateral ABCD, Show
that ZA>/ZCand Z8 >
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w) e pN & W ¥ R wife s aaBC = apok B

Two sides AB and BC and madian AM of AABC are respectively equal to sides PQ, OR and
median PN of APOR then prove that AABC =APQR



